MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Quality Engineered Products, Co., Inc.

4506 Quality Lane

Tampa, FL 33622

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including High Velocity Hurricane Zone of the Florida Building Code.

DESCRIPTION: Series 16 ga Outswing glazed Commercial Steel Door w/ wo Panic Exit Devices-Impact

APPROVAL DOCUMENT: Drawing No. QQ2, titled “16 GA Commercial Outswing glazed Steel Door”,
sheets 1 through 13 of 13, prepared by manufacturer, dated 07/08/08, signed and sealed by David M. Schonacher
Jr., P. E,, bearing the Miami-Dade County Product Control renewal stamp with the Notice of Acceptance number
and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 04-0823.04, consists of this page, evidence sheet E-1 and E-2, as well as, approval
document mentioned above.

The submitted documentation was reviewed by Ishaq 1. Chanda, P.E.

NOA No 07-1017.10
Expiration Date: July 11, 2013
v Approval Date: July 31, 2008

QS/ \Y Page 1

S



Quality Engineered Products., Co., Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (Transferred from file # 04-0823.04)
1. Manufacturer's die drawings and sections.
2. Drawing No. QQ2, titled “16 GA Commercial Outswing glazed Steel Door”, sheets 1
through 13 of 13, prepared by manufacturer, dated 07/08/08, signed and sealed by
David M. Schonacher Jr., P. E.

B. TESTS (Transferred from file # 04-0823.04)
1. Test reports on 1) Air Infiltration Test, per FBC TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202.
3) Water Resistance Test per FBC, TAS 202-94 (Not Performed).
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
Along with marked-up drawings & installation diagram of Commercial Steel Doors w /Panic
devices, prepared by Certified Testing Laboratories Inc., Test Report No. CTLA 1276W,
dated Nov. 11, 2004 and CTLA 976WA-2, dated 07/12/04, both signed and sealed by
Ramesh Patel, P. E.
(Note: This test report has been revised under Test Report No. CTLA 1276WR, re-issued on
Feb 01, 2005 by Certified Testing Laboratories, signed and sealed by Ramesh Patel, P. E.)
2. Test reports (Transferred from file # 04-0823.04)
1) Air Infiltration Test, per FBC TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202.
3) Water Resistance Test per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC and TAS 202-94
Along with marked-up drawings and installation diagram of Single outswing Commercial
Steel Doors, prepared by Certified Testing Laboratories Inc., Test Report No. CTLA 1238W,
dated 08/13/04, signed and sealed by Ramesh Patel, P. E
3. Additional test report HTL-0050-0407-96 and HTL-0050-0104-96 tested per SFBC,
PA201, 202 and 203-94, issued by Hurricane testing laboratories, Inc. dated 04-17-96,
and 01/15/96, both signed and sealed by Timothy S. Marshall, P. E. (Transferred from
file # 00-0726.01/03-0708.02)

C. CALCULATIONS (Transferred from file # 04-0823.04)
1. Anchor verification calculations, dated 10-25-2005, prepared, signed and sealed by
David M. Schonacher Jr., P.E
2. Glazing complies w/ASTME-1300-02

D. QUALITY ASSURANCE BY:
1. Miami Dade Building Code Compliance Office (BCCO).

‘ Chas ' . (_va:el.«,
Ishaq I. Chanda, P.E.
Product Control Examiner
NOA No 07-1017.01
Expiration Date: July 11, 2013
Approval Date: July 30, 2008




Quality Engineered Products, Co., Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITT

E. MATERIAL CERTIFICATIONS (Transferred from file # 04-0823.04)

1. Tensile test report prepared by Certified Testing Laboratories Inc., Test Report No.

: CTL 1023J (CTLA114W), tested per ASTM E-A370-97, dated December 02,2003,
signed and sealed by Ramesh Patel, P. E.

2. Notice of Acceptance No. 07-1107.08 issued to Dyplast Product, LLC (former Apache
Products Co) “EPS-Expanded Polystyrene Insulation”, expiring on 01/11/2012.

3. Notice of Acceptance No. 03-0514.15 issued to Old Castle Inc. for “Storm glass for
laminated glass, expiring on 10/12/08.

4. Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex HIG
Clear or colored Interlayer”, expiring on 05/21/11. :

F. STATEMENTS

1. Statement letter of conformance and “no financial interest”, dated July 08, 2008,
signed and sealed by David M. Schonacher Jr. , P. E.
2. Statement letter of compliance, as a part of the above referenced test reports.
G. OTHER

I. This renews NOA # 04-0823.04, expiring July 11, 2008
2. Previous associated files with this NOA(s) are # 03-0708.02 and 00-0726.01

\gtag L L

Ishaq L. Chanda, P.E.

Product Control Examiner
NOA No 07-1017.01
Expiration Date: July 11,2013
Approval Date: July 30, 2008




22" MAX. 3 .
15" _ TYP. . EQ. . EQ. . EQ. 15" 15" 15 ok g
EXPOSED GLASS @ o | 53 oS
' /—@ [ / Q| = ™
L ' I 2 ] o E g x
’;i I T \ | ] /, 0 |(34|::)R ZY?J;MABNCHORS \ S I ] . © d = i’;% 3
‘ ¥ > N . h ——I — N Y] Co
Y e LA e ~L ¥ 7~ [t Nl AEEER
~ A A Sjp 16 GA HOLLOW METAL ) T NS 2L ®
. 34 7 @ FRAME — CAULK ENTIRE 5]\ N £4” | 3
> NI - PERIMETER < N3 i 3
~ D) ) v, FEVEY o 16 GA. HOLLOW =T N . 9 = &5
o . LR P METAL DOOR — NI N o | D 3
e 8. & ., - 40,000 PSI = MIN. NERAN © % 2 .
S 1K <+ TN PR YIELD STRESS Sl TRl 3 < | (R S &
l s A ) / A C Pl 2l= N 12" g \J1/
ol e , .y, # | ]~ HAGAR HINGES 4.5 x Jel, o / o ?
/ 4.5 BB1275 .134” b sl L o
I / _ THICK “ 4 , <
i? 3 % °o| N
T T 12 ” w
| i | 125 12 Z
' : ' 0.C. 0.C. (]
347 MAX.| 12" COMPLIANCE OF THESE UNITS TO FBC 54m MAX 127 Z
. X . | EGRESS/ESCAPE REQUIREMENTS TO BE ., i >
2"/ EQ. ELL/ . 2~ | REVIEWED BY BUILDING OFFICIAL ON A 2"/1 NEQ. B/ [N\2 2
8'—0" (96") MAX. CASE BY CASE BASIS 4'—0" (48”) MAX. > S 8w
o © 0O
16 GA. STEEL CHANNEL 12 T9R
» . “ < oM |
1.1/2 - SPOT WELDED 4” 0.C. NOTE: 3| 8%
{ S SS SY ST ST SUSST T .‘/ GE ULTRAGLAZE 4000 ALL DOORS AND FRAMES ARE “2 ; O NNM
S0 - SLICONS SendE 4000 BONDERIZED AND GIVEN ONE COAT 2 -~ oM
T 77 ”“/t © NE SEALA OF RED RUST INHIBITIVE PRIMER.
¥ e T —
= " n LOCK FUNCTION TESTED: i g with th
o\ P %s" OVERALL = ¥g" TEMPERED O e lON TESTED: Buiding Coge ¢ Torida
_—1 GLASS LAMINATED To BOTH D41 DEADBOLT u::::i“;”?“’”’? N
T SIDES OF .090 "SAFLEX” PVB 0 “ "‘ 4 /1'
N
\ INTERLAYER BY SOLUTIA, INC. DESIGN_PRESSURE RATING ﬂ “ 2
IR W/ _DEADBOLT: W ~ 3
N + 40 PSF_/ — 50 PSF ol E
2L LI 77 77 77 V7 727 n_
~ 18 GA. WINDOW KIT HURRICANE PROTECTION SHUTTERS SAE
SN SN » h
46 x 1 1/4" SELF ARE_NOT REQUIRED i
TAPPING SHEET METAL | -
(AN DETAIL SCREWS SET 12" O.C. o w
U/ FULL SIZE S| g
INDEX _OF DRAWINGS: SHEETS: - % Z
: J 20
GLAZED STEEL DOOR WITH DEADLOCK 1 THRU 2 S| TO
GLAZED STEEL DOOR WITH RIM EXIT DEVICE AND REMOVABLE MULLION 3 THRU 4 Z
GLAZED DOOR WITH MORTISE LOCK (SINGLE DOOR ONLY) 5 THRU 6 . = | SHEET 1 OF 13
GLAZED STEEL DOOR WITH "DORMA” RIM EXIT DEVICE AND REMOVABLE MULLION 7 THRU 8 DAVID M. SCHANACHER, PE. | !
DOOR CONSTRUCTION, DOOR AND FRAME REINFORCEMENTS, ANCHOR DETAILS, AND COMMON DETAILS 9 THRU 13 RO REG, 1 633 , |5 | pate 7-8-08

S\Projects\2005\05-035 Quality Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-OS\AVANTI QEP-SHEET.dwg Plotted: Jul O9, 2008 - 12.29pm by davids




(2) 2x6 WOOD BLOCKING

w/ %" x 5” LAG SCREWS WOOD (2) 2x6'S
IN %" EMT PIPE SLEEVE / —1/4" WOOD SHIM
- / | PEMKO #312 CR WEATHERSTRIP
W/ #4 x 5/8" MACHINE SCREWS
>< SET @ 6" 0.C.
. WINDOW
__A_.f‘___

ASTRAGAL GE
ULTRAGLAZE
4000

SILICONE

]

16 GA. OUTSWINGING GLAZED COMMERCIAL STEEL DOOR

TAMPA, FLORIDA 33634

4506 QUALITY LANE
(813) 885-1693

Producls Bo., Ine.

' | ST || <v 1B &S
1
1.1/2] 34~ 11/2] N
47 13/16" (4'—0" NOM.)
3/8” DIA. x 5" DYNABOLT SLEEVE (2) 2x6 WOOD BLOCKING w/
ANCHOR BY ITW/REDHEAD INTO %" x 5" LAG SCREWS IN 3" ow
GROUT FILLED BLOCK OR CONCRETE EMT PIPE SLEEVE S8y
w/ 2%” MIN. EMBEDMENT ” t? t}l 8
Z,
S 82w
/H\ HORIZONTAL SECTION Z B N
DESIGN PRESSURE RATING w 3 = 10" PRODUCT RENEWED Z @R
W/ DEADBOLT: ascomplélgl.‘]g with the Flerida r e oM
+ 40 PSF / — 50 PSF et ee No.o 2-1417-00
/ Expiration Date _Jg_l_y_uf__ﬁ/ 3
By'? slngy [ Lland
A _V EXTERIOR Mzl Binds Pro .i
1/ Division
-l
<
PEMKO #368 CN SWEEP ~| B
W/ #4 x 3/4” MACHINE o E
SCREWS SET ® 12" 0.C. S| x
— -
. 2
g K ] TF < A m [
A T N e EMKO #191 AAV THRESHOLD S| 3
- #10 x 2" WOOD SCREWS WITH SHIELD SET é’ & ~
AT 12" 0.C. (EMBED INTO WOOD W/ 1.375" 0 & 2008 5 2g
MIN. PENETRATION) OR 3/16" x 2" TAPCON
(AN VERTICAL SE?TIO'N . SET AT 12" 0.C. (EMBED INTO CONCRETE W/ -
\2/ 3 =1-0 1" MIN. PENETRATION) = | SHEET 2 OF 13
GLAZED STEEL DOOR WITH DEADLOCK | “fceoses sen — | & DATE 7—8—-08
- —— — (NOT VALID WITHOUT SEAL) )

S\Prajects\2005\05-0O35 Qudlity Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O8\AVANTI QEP-SHEET2.dwg Plotted: Jul O&, 2008 - 414pm by kevinm




3/8" DIA. x 5" DYNABOLT SLEEVE

4) %" DYNABOLT
ANCHOR BY ITW/REDHEAD INTO S\N)C,fORS PER JAMB ITEM # |QUANTITY | BILL OF MATERIALS
GROUT FILLED BLOCK OR CONCRETE OR (8) STEEL ™" S
w/ 2%” MIN. EMBEDMENT ANCHORS () 1 16 GA. MIN., 14 GA. MAX., STEEL w8 3
10" [ 20" . 18" ., 20" , 10" HEAD/JAMB/SILL FRAME 3 EE
0" 10” 2 2 16 GA. MIN, 14 GA. MAX., FULL ol -z i)
A — ~ GLASS STEEL DOOR — Fy MIN. olEgg
(9) ~ 49,000 PSI - g i 6"
b H - % ” ” u
) /4‘5 2 ~ f 3 6 HAGAR HINGES BB1279 4%" x 4% L gé% 9
s | o /,/ : ’\\// x 0.134" THICK | 3= =
N / ) % ’g,/_' > QD / b 4 1 PEMKO 2005AV THRESHOLD 2 T
S i N o |l K <l 8 18 3/8” X 5” DYNABOLT SLEEVE =
2 Y " © @ / O S @ © , < ANCHOR BY ITW/REDHEAD w/ 3/4” o
i I A 9 2l ™ ey - EMT WELDED PIPE SLEEVE w
3 2 S als N (2) =~ o =2/ S 3| 6 2 SARGENT RIM EXIT DEVICE HC8800 S
N BT 7o (L A N[ i ' ] N = OR VON DUPRIN RIM EXIT DEVICE 3 X
oS¢ e - e ) N ) 98/99 OR CORBIN RUSWIN RIM .
5 < 2 3 < X EXIT DEVICE ED5200 Q
~ ~+ = \ o~ = ™~ L) €O
MAX. " (3 MAX, 5, 7 AS REQ. | EPS POLYSTYRENE FOAM CORE BY N
pLgy - | ) oLy N APACHE PRODUCTS 3 S
- 2 - (4) AL 8 1 PRECISION FL822 REMOVABLE ©
; N~/ 5 MULLION o
i ﬁi\'- - = P —— =] 9 AS REQ. | %" LAMINATED GLASS (¥s” HS + (ED
b oz — 12" 0.120" STORMGLASS INTERLAYER Z
] b | 61 8, oc.| | 6" BY OLD CASTLE +¥s” HS) BY OLD =
2/ 23" MAXL ) TYP) CASTLE GLASS 0 -
i - 6'—0" 72"E MA /1 \eq. 03" M\LE : 10 AS REQ. | PRECISION CORNING #995 3 SSw
—0" (72) MAX. D.L.O. = DAY LIGHT OPENING R A STRUCTURAL SILICONE SEALANT NN O
3'-0" (36") MAX. <|Z dm
OUTSWING DOORS (INTERIOR VIEW) OUTSWING DOOR (INTERIOR VIEW) Ol aqo
. S O NN
DESIGN PRESSURE RATING VS. EXIT DEVICE PART #6 & | POSITIVE NEGATIVE 2 E —am
PRECISION REMOVABLE MULLION FL822
SPEC #1 — PRECISION FL2100 RIM EXIT DEVICE OR +65 PSFX| —65 PSF
L /4 16 GA. STEEL CHANNEL SPEC #2 — PRECISION 1100 RIM EXIT DEVICE OR +65 PSFX[ —65 PsF
) NG SPOT WELDED ; 0.C. SPEC #3 — SARGENT RIM EXIT DEVICE HC8800 OR +70 PSFX| -70 PsF
DOW CORNIN 995 -
> 1 - /e/w SEALANT SPEC #4 — VON DUPRIN RIM EXIT DEVICE 9y OR +70 PSFX| —70 PSF <
5/8" E 7/16" LAMINATED GLASS - SPEC #5 — CORBIN RUSWIN RIM EXIT DEVICE ED5200 +65 PSFX| —65 PsF o g
A 310 S OLASS >k = NOT RATED WHERE WATER INFILTRATION IS NEEDED. O %
B OF .120 STORMGLASS PRODUCT RENEWED a
o e —— | LAMINATE BY OLD CASTLE o Complying it the Florida e | B
. ng C
A ’ 5 GLASS IND @ Acceptsnce No.07- /0170 | w
= Expiration Dute 701 77,2,)3 § z
S G s ™ 18 GA. WINDOW KIT mh“‘ | Ll S| 8
:>\_ #6 x 1 1/4" SELF , ' ‘ %
TAPPING SHEET METAL ' -
SCREWS SET 12" 0.C. GLAZED STEEL DOOR WlTH RIM EXIT : 0 = SHEET 3 OF 13
DAVID M. SCHONACHER, PE.
(©\HORIZONTAL SECTION DEVICE AND REMOVABLE MULLION e F 1N
\3/ FULL SIZE (NOT VALID WITHOUT SEAL) | & —8-08

S\Prgects\2005\05-035 Quality Engineered Products\Other Disciplines\Quadlity Engineered Products\O5-20-O8\AVANT| QEP-SHEET3.dwg Plotted: Jul O8, 2008 - 4:14pm by kevinm




7 GA. STEEL HINGE

A > = NOT RATED WHERE WATER INFILTRATION IS NEEDED.

/A VERTICAL SECTION f/:?;"DnN'TAEPSSEND Y QML_'D—OQR WITH RIM m DAVID M. SCHONACHER. PE.
\4/ 3 = -0 D_EV'C_E ANQ REMOVABLE MULLION FLORDA REG. # 63131

(NOT VALID WITHOUT SEAL)

DRAWING NUMBER

1/4” MAX. SHIM EE%’\?"\%’EEF'&%{{I REINFORCEMENT
16 GUAGE /@ LoCK 16 GUAGE FRAME — z
FRAME — EXTERIOR GROUT FILLED < 3
GROUT FILLED REINFORCEMENT SPOT | 2k g
WELD 4 PLACES T x| <<
Q| 22 SN
LT T 1 e ] ' A oo kv T o :; e ™
| = | 5 r qF Y /— o S S g -
' o | =BT ;
s : B o< )
> T w T B
: ) 5 © <Zz: ® Q9
LS 2 ®
: -
— 2 §
(&
x
u| W /2" MIN. EMBED 3/8” x 5" DYNABOLT SLEEVE ANCHOR BY 8) 1 3/4" x 5 3/4" x 12" z .
~ Y ITW/REDHEAD INTO GROUT FILLED BLOCK OR CONCRETE STEEL TEE ANCHOR S &
.‘ K - j o HORIZONTAL SECTION ol Je&
SV e /T (DOUBLE DOORS) N N
| NG T = 1-0 1/47 MAX. SHIM FXTERIOR 16 GUAGE FRAME — g N
T T/ =1 15 GUAGE FRAME 9 GROUT FILLED
| R ||| O 18 GA STEEL ToP CAP — ~ GROUT FILLED n — g
: ,F:‘l TRACK WELD AND CAULK O S V4 - =~ I A e 5
: A ' " BRI I ! T S P ! o .- Z
' 16 GA. STEEL CHANNEL ~ " I N I —" =R [ BN z
et SPOT WELD 4" OC. e o Iy 7 i E
IR T . .'. - \ /
Bt 16 GA. STEEL CLOSER L N 5 g®| .
G REINFORCEMENT ——_—— . \\ o 888
- . - L[] (’) N
16 GA. STEEL CHANNEL 1 - |5 éé )
L Wl o~
EXTERIOR N TR ~am
= . - 3/8" x 5" DYNABOLT SLEEVE ANCHOR BY I
‘ 7/16” LAMINATED GLASS L ITW /REDHEAD INTO GROUT FILLED BLOCK OR CONCRETE (8) 1 3/4” x 5 3/4” x
2 1/2” MIN. EMBED 12" STEEL TEE ANCHOR
10 /E\HORIZONTAL SECTION (SINGLE DOOR) PRODUCT RENEWED
& SRRt it I
, ALL VOIDS FILLED W/ - Acceptance No £7-(017- {0 <
= EPS BY APACHE DESIGN PRESSURE RATING VS. EXIT DEVICE PART #6 & | POSITIVE NEGATIVE xpiration Dute_ g | 3
¥y N (@]
e PRECISION REMOVABLE MULLION FL822 By ol E
16 GA. STEEL FLAT — : +65 PSFK| —65 PSF Minmi Bode Frodut Gusilll (Y | O
o / STOGK SPO WELDED SPEC #1 — PRECISION FL2100 RIM EXIT DEVICE OR X Division :
' TO FACE SKINS SPEC #2 — PRECISION 1100 RIM EXIT DEVICE OR +65 PSFK| —65 PSF n
~ (=
/— EEQKKST %05” VINYL | SPEC #3 — SARGENT RIM EXIT DEVICE HC8800 OR +70 PSFK| =70 PSF "
16 GA. STEEL SPEC #4 — VON DUPRIN RIM EXIT DEVICE 98/99 OR | +70 PSFX| —70 PSF g
BOTTOM CHANNEL g & o
- +65 PSF>X| —65 PSF
_SPOT WELD 4” OLC. SPEC #5 — CORBIN RUSWIN RIM EXIT DEVICE ED5200 58

SHEET 4 OF 13

DATE 7-8-08

S\Prgects\2005\05-035 Quadlity Engineered Products\Other Disciplines\Quadlity Engineered Products\O5-20-O8\AVANTI QEP-SHEET4.dwg Plotted: Jul 09, 2008 - 12:29pm by davids




(5) %" DYNABOLT
ANCHORS PER JAMB GLAZED STEEL DOOR WITH MORTISE LOCK
OR (8) STEEL "T” e
ANCHORS w R )
2, 48 42 x| %= g
(i 0) _ g ITEM # |QUANTITY | BILL OF MATERIALS DESIGN PRESSURE RATING SINGLE DOOR W/ MORTISE Q| -2 SN
D.L.O. = 35 Q| ri
N LOCK (ITEM #6, 7, 8, & 9) o358
— et -
. 1 1 16 GA- MIN. 14 GA. MAX. H.M. WHERE AR & WATER |WHERE AIR & WATER || = | =55 ;
. FRAME W | 2<8 1)
0, INFILTRATION INFILTRATION W S2d o
Q : 2 1 16 GA. MIN, 14 GA. MAX. FULL REQUIREMENT IS REQUIREMENT IS NOT || & | 82O
¥( R L / 3( GLASS H.M. DOOR NEEDED NEEDED N =
. / ) 3 4 HAGAR HINGES BB1279 4.5 x 4.5 FOSITIVE 1490 PSF +90 PoF =
3| /BN / o 134" THICK 2
+H N
. \&/ L 4 1 PEMKO 2005AV THRESHOLD NEGATIVE |-90 PSF —-90 PSF L
B ‘“w’@= N 5 10 3/8” X 5" ANCHOR BOLTS (U.S. 3
<:>—N\ Y N- R © ANCHOR) 3 I &
S Nio = | @_\ . 6 1 CORBIN RUSWIN MI2200 MORTISE a *
: 11—~ —K Q LOCK o ()
C /ﬁ N & 7 1 DORMA ML9953 MORTISE LOCK g
(2)— b al \7 IE 8 1 SCHLAGE L9456 MORTISE LOCK ) N
@_‘\ - 9 1 SARGENT 8243 MORTISE LOCK )
* QY 10 1 7/16" HS LAMINATED GLASS BY g
H——— / 2 OLD CASTLE 2
.\\ / N 11 1 PEMKO 347A TOP DRIP =
S N 12 2 PEMKO 68A DOOR TOP WEATHERSTRIP 5 S® .
Ok Dokt 3| E8s
6%, 112" 12 A2, L6 13 3 PEMKO 303AS WEATHERSTRIP FREENNNES
7 o]
D.L.O. = DAY LIGHT OPENING / 14 AS DOW CORNING #995 STRUCTURAL © %) ? T ul)
¥s” DIA. TAPCON W/ REQ'D |SILICONE SEALANT o> oaN~
1 1/4” MIN. EMBED 1/2" x 4 1/2" 12 GA. m oA
STEEL BOX CHANNEL WELDED PRODUCT RENEWED
/7~ \ OUTSWINGING DOOR (INTERIOR VIEW) @6” 0.C. FULL LENGTH as complying with the Florida
— — " Buiding Code ,
_/ 3/8" = 1'-0 11/4 L 16 GA. STEEL CHANNEL SPOT Acceptance No] 7~ [0/ 740
E’I 7 WELDED 4" 0.C. Expiratioa Date 73 2/3
‘q DOW CORNING #995 SEALANT ,
AN OSS NN Y -, -
z 7 y; Division g
| 7/16" LAMINATED GLASS — 8 S
3/16" H.S. GLASS LAMINATED o a
TO BOTH SIDES OF .120 <
STORMGLASS LAMINATE BY =
%\ T OLD CASTLE GLASS IND. i
5|
| f m| 2
S~ =| 8
= S NS ek 18 GA. STEEL WINDOW KIT E =
20
\ 41/2" L L \ | TO
\ 7 46 SCREWS SET 12" O.C. = SEET S O 13
CONTINUOUSLY WELD EDGES =
DDETAlL LOCK CHANNEL DAVID M. SCHONACHER, PE. «
FLORIDA REG. # 63131 o DATE 7-8-08
U FULL SIZE (NOT VALID WITHOUT SEAL) | O

S\Projects\2005\05-035 Qudlity Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O&\AVANTI QEP-SHEETS.dwg Plotted: Jul O8&, 2008 - 415pm by kevinm




STEEL HINGE REINFORCEMENT © .
AND@SEE@ 7 GA. x 1 1/4” x 10" WITH L8 ‘
= | 16 GA. FRAME — (4) #12 SMS HINGE SCREWS x| 25 g
GROUT FILLED TAPEMKO #303 T0)LAMINATED GLASS AisE SN
18 GA. STEEL TOP CAP WEATHERSTRIP 16 GA STEEL CHANNEL 1%4” & | E8x
TRACK WELD AND CAULK . " x 1%” x %" FULL LENGTH Jz < -
16 GA. STEEL CHANNEL SPOT 1.1/2" x 4 1/2 16 GA. FRAME ol Son N
el WELD 4” 0.C x 12 GA STEEL 6 GA. _ ey
— -C. | BOX CHANNEL GROUT| FILLED Hlgza B
S0 o FULL_LENGTH B T EEe
. . v - s § G . u v - v
S 16 GA. STEEL CLOSER RRREEL AV - ey et B : e s ¢ [EAR <
16 GA. STEEL CHANNEL PR R I |- b | ] 5
- /_1 1/4" x 1 5/8" x 3/8" | | <Ll . S U AN R §
: —] EXTERIOR ‘ 18 GA WINDOW KIT : : - =~ S X
" \__,____/l ! q . () H
|~ 7/16" LAMINATED GLASS \ . N L C1))
@ ) ¥ v j
- » v o
‘ L \——3/8" x 5” DYNABOLT SLEEVE ANCHOR BY (8) 1 3/4 © N
2 1/2" MIN. EMBED [TW/REDHEAD INTO GROUT FILLED BLOCK X 5 3/4" x <)
OR’ CONCRETE (5) 12" STEEL r
ALL VOIDS FILLED W/ EPS TEE ANCHOR o
OR URETHANE s
/F\HORIZONTAL SECTION (SINGLE DOORS) 0
' \&/ 3= 10" S| 88w
|16 GA. STEEL FLAT STOCK o SS8
_ SPOT WELDED TO FACE SKINS DESIGN PRESSURE RATING SINGLE DOOR W/ MORTISE i|2 Ll
41 -'/—PEMKO #2005 AWINYL LOCK (ITEM #6, 7, 8, & 9) S| $$?
/ A GASKET (4) WHERE AR & WATER |WHERE AR & WATER || © | = © &K~
16 GA. STEEL BOTTOM INFILTRATION INFILTRATION £ e oo
CHANNEL SPOT WELD 4” O.C. REQUIREMENT IS REQUIREMENT IS NOT
- . NEEDED NEEDED
<\ J 16 GA. STEEL BOTIOM [pogmive [+90 PSF +90 PSF
(Y O © D 3/16” DIA. TAPCON W/ ” CHANNEL SPOT WELD
) 1-1/4" MIN. EMBED 4 4" O.C. NEGATIVE |-90 PSF —90 PSF
PEMKO #2005AV ALUM. <
/G VERTICAL SECTION PERL S THRESHOLD ~| 3
\6/ 3 = 1-0 ol ¥
. EXTERIOR PRODUCT RENEWED | &
. ;ﬁ' s complyiag with the Floida :
— Aecceptance No 0 7-(0/ 7- /0 0
Expiration Dute 7 o =
20/
4 L |
g ' | § -
. - — %" x 2" TAPCON o
THRESHOLD o A he, X "/ 5| 8
INSTALLATION | 1%” MIN. EMBEDMENT 2| B
5" | L 8 2[}38 €] 2 8
Z.
/H\DETAIL = | SHEET 6 OF 13
\b6/ HALF SIZE DAVID M. SCHONACHER, PE. | ¢
FLORIDA REG. # 63131
(NOT VALID WITHOUT SEAL) DQ: DATE 7-8-08

S\Projects\2005\05-0O35 Quadlity Engineered Products\Other Disciplines\Quadlity Engineered Products\O5-20-O8\AVANT] QEP-SHEETG.dwg Plotted: Jul O2, 2008 - 12:28pm by davids




GLAZED STEEL DOOR WITH "DORMA” RIM TEM # | QUANTITY) BILL OF MATERIALS
EXIT DEVICE & REMOVABLE MULLION 1 ’ 10 OA MIN. 14 O MAX. STEEL 2 ;
Al ULVINLVE & NRECVIWMVADELE VIULLIVIN HEAD/JAMB/SILL FRAME w g
o —~ — 2 2 16 GA. MIN, 14 GA. MAX. FULL S| 35 LN\
—~9 z - GLASS STEEL DOOR — FY MIN. QI EEx
H P S 0 49,000 PS SR & -
ECV P —]s - ol Q
N J— // 1% ®) 0 \= . 3 8 HAGAR HINGES 4.5 x 4.5 TG ®
D.L.0. = 35 | 4 : o D.LONS 35 S S L 9
S A // 8 ~5) & / N S BB1279 .134” THICK e
5 18 /—@Z x o) pd SN N . 4 1 PEMKO 2005AV THRESHOLD I I
IYe! - 1 — ol 1
N (f / / 0 N\m JE ) ~ . 5 10 3/8” X 5" EXPANSION BOLTS g
~ N O N N Il O »
D . J {K} S > GK\' X (U.S. ANCHOR) W/ 3/4" EMT &
| = g -] Y — \ o \&/ WELDED PIPE SLEEVE s
o © " s o o © h S - o | 6 2 DORMA EXIT DEVICE HCF9400 OR| | =
= — || [F—— ! L~2) L Nl o © HCF9300 X YRO8 3 KN
. ;@ _ \ /,/ N - @ 7 AS EPS POLYSTYRENE FOAM CORE a :
N a © /@ Q % REQ'D BY APACHE PRODUCTS L 0]
~— \ -~
A / 0 A 7 - B I 5 8 1 DORMA HC1300 REMOVABLE <
A ? &A% N\ o A N MULLION (DOUBLE DOORS) o N
\ - f : 9 AS 7/16" LAMINATED GLASS (3/16” || ©
S | I | — \ 5 /I | A °° REQ'D [ HS + .120" INTERLAYER BY OLD | | =
IR / /@ 12" CASTLE + 3/16” HS) =
o0.C (6) 0C1 o 10 AS DOW CORNING #995 =
D.LO. = 35 P! gb o 35" : REQ'D | STRUCTURAL SILICONE SEALANT « ow
2" EQ. EQ. » e » » =2 XX
2"/ | \EQ. ./ 96 LioiN opening 2 Eo. 4 £ 11 2 RIE_:%:E RessaTARIBOOR TOP 3 g § g
OUTSWINGING PAIR OF DOORS (INTERIOR VIEW) OUTAWINGING SINGLE DOOR (INTERIOR VIEW) | . 3 NATIONAL GUARD #130SA 3. % én'i
DESIGN PRESSURE RATING W/ DORMA RIM (5) %" SLEEVE WEATHERSTRIP o2 sl
EXIT & DORMA 1300 REMOVABLE MULLIONS ANCHORS PER JAMB 13 1 PEMKO 347A TOP DRIP 23 _am
WHERE AIR & WATER WHERE AR & WATER ORC(B) STEEL T T s s 1o 12 oA
INFILTRATION REQUIREMENT | INFILTRATION REQUIREMENT ANCHORS /2" x 4 1/ :
IS NEEDED IS NOT NEEDED STEEL BOX CHANNEL WELDED
— @6" 0.C. FULL LENGTH PRODUCT RENEWED
NG WELDED 4" O.C. Acceptance Nog7- /0 | 7 [0
NEGATIVE |NOT APPROVED —80 PSF \L . - pifation D
I / o CORNING #9095 SEALANT ® ““""““%/B 3
> < > S < < //\ 7 LA AN } @ ‘ - N 8
- " | o ol o
| 5/8" 7/16” LAMINATED GLASS — Divising Q| &
| /_3/16” H.S. GLASS LAMINATED =
g ' TO BOTH SIDES OF .120 7
% STORMGLASS LAMINATE BY OLD x| -
CASTLE GLASS IND. &)
A © M| =z
/) | =| S
18 GA. STEEL WINDOW KIT < §g
. e RERe=L ' o| TO
\ f Z.
41/2" L » '~ | SHEET 7 OF 13
mD TAIL LOCK CHANNEL \ #6 SCREWS SET 12" 0.C. DAVID M. SCHONACHER, PE. E
CONTINUOUSLY WELD EDGES FLORIDA REG. # 63131
& | DATE 7-8-08
\_/ FULL SIZE (NOT VALID WITHOUT SEAL) | (O —o=

S\Projects\2005\05-035 Quality Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O8\AVANTI QEP-SHEET7.dwg Plotted: Jul O8, 2008 - 416pm by kevinm




STEEL HINGE REINFORCEMENT 7 GA. x 1 1/4"
x 10" WITH (4) #12 SMS HINGE SCREWS

PRODUCT RENEWES
% complying with
Biding Coar | ¢ Fresidle

|

3/8"

N

L—

41/4"

11/2" x 4

7/16" Hs {9)

16 GA STEEL

18 GA WINDOW KIT

BN 16 GA. STEEL CLOSER
T /_REINFORCEMENT

/K VERTICAL SECTION MIN. EMBED @ 12" 0/C

\8/

3" = 1"-0”

1/2" x 12 GA
s4EE|_ BOX E¢MIC,)\II:ASE8AS?'[F-LAESS CHANNEL 1 1/4" 3 .
-_ . CHANNEL FULL 18 GA WINDOW KIT. x 15/8" x 3/8" EXTERIOR - 9 3 g
. LENGT FULL LENGTH el 22
LV '~v<!q e -| . . — .l'" vy A e 3 9 %
A N 348 .
AL B e
g = : : 3 @E“\@
[ ” » . ] g
- 3/8” x 5" DYNABOLT SLEEVE . ) . v 2
v ANCHOR BY ITW/REDHEAD INTO ZDORMA HCF 1300 REMOVABLE T 3/% X © %fPExR ﬁMB) v "
GROUT FILLED BLOCK OR MULLION SEE@ g 3
2 1/2” MIN. CONCRETE (5—PER JAMB) 1/4” MAX. SHIM S I &
EMBED HORIZONTAL SECTION DESIGN PRESSURE RATING W/ DORMA RIM EXIT & o :
AND@SEE@ (DOUBLE DOOR) DORMA 1300 REMOVABLE MULLIONS L €9
@ WHERE AIR & WATER WHERE AR & WATER < S
3 = 1-0" INFILTRATION REQUIREMENT | INFILTRATION REQUIREMENT || @
1, ST e, S A el :
NOT APPROVED =
16 GA. STEEL CHANNEL SPOT POSITIVE +80 PSF =
WELD 4" O.C. NEGATIVE |NOT APPROVED —80 PSF Z
=
” w
STEEL HINGE REINFORCEMENT EXTERIOR i 7/18" HS 16 GA STEEL CHANNEL | & ow
” ”» 1 1/2 X 4 1/2 X LAMINATED GLASS » ” ” o }
7 GA. x 1 1/4" x 10" WITH 1/4" x 1 5/8" x 3/8 O © ®
4) #12 SMS HINGE SCREWS 12 GA STEEL BOX BY OLD CASTLE FULL LENGTH © Q8
4) # CHANNEL FULL LENGTH 18 GA WINDOW <2 108
16 GA. STEEL CHANNEL 1 — = KIT — S5 amd
1/4” x 1 5/8" x 3/8 R I SRR N ol|lZ o
EXTERIOR N TR IR J . e 12 -cam
_——7/16" LAMINATED GLASS S el M ol
r e 7 " I ; L.
@ . / — T ] ] A ‘S
ALL VOIDS FILLED W/ EPS L - - | ';t'
OR URETHANE (7) 3/8” x 5" DYNABOLT SLEEVE 1 3/4" X 5 3/4" X 12 LT ~| 3
ANCHOR BY ITW/REDHEAD INTO TEE ANCHOR (8—PER JAMB) ol &
GROUT FILLED BLOCK OR ) S| &
16 GA. STEEL FLAT STOCK CONCRETE (5—PER JAMB) 1/4” MAX. SHIM -
SPOT WELDED TO FACE SKINS 2 1/2" MIN. EMBED - 0
[mag
PEMKO #2005 AWINYL
PEMKO #2005 AWINYL (4) /M HORIZONTAL SECTION (SINGLE DOOR) o w
/——16 GA. STEEL BOTTOM NCY - 10 S|
i CHANNEL SPOT WELD 4” O.C. % z
. n =20
JUL 0/8 2008 % IO
” ”
et om mecon wy 1 e GLAZED STEEL DOOR WITH "DORMA” RIM Z [owers orrs
EXIT DEVICE & REMOVABLE MULLION AT St ;
' (NOT VALID WITHOUT SEAL) ) DATE 7-8-08

S\Projects\2005\05-035 Quadlity Engineered Products\Other Disciplines\Qudlity Engineered Products\O5-20-O8\AVANT! QEP-SHEET8.dwg Plotted: Jul O8, 2008 - 417pm by kevinm




4506 QUALITY LANE

TAMPA, FLORIDA 33634

(813) 885-1693

Products Bo., Fne.

x
o
o
o
ad
Ll
Ll
[
(7]
ad
m— <
] (4) %s"—18 FHPMS DRILL o
)L 1 & TAPPED TO FRAME u
| | ”»
[ © | 2 (23 .
[LLJ| ©
5/16" a t
| L X5
- : 3
| 2| N
| | Y )
| z
o
- = :
Ny HC1300 MULLION z
oo =) S8
L \ HC1300 MULLION o S98
I <(Z dm
| °|13 378
| | Ol oaN
| [ "8 -~am
: : PRODUCT RENEWESD
=~ (2) %" MW RAMSET/RED HEAD idisg Code _ 1917-/0
. SELF DRILLING ANCHORS 175" mﬁmm/j
| MIN. EMBED. INTO 2000 PS /
| MIN. CONCRETE e — <
LA |8
— i —— Q| a
- v\ o| %
S e 4 1 /18" 0 -
T 4'.“ - / : 4"" 6"x2"x1/4” STEEL PLATE - %
. " A =
/A VERTICAL SECTION % w
w 32' = 11_0n 2 3
) [
’ z| 59
JJUL O/ 8 2008 % To
; SHEET 9 OF 13
ORMA HC-—1300 REMOVABLE MULLION RETEPNTERPE | <
(NOT VALID WITHOUT SEAL) ) DATE 7-8-08

S\Projects\2005\05-035 Qudlity Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O8\AVANTI QEP-SHEETE.dwg Plotted: Jul O8, 2008 - 4:18pm by kevinm




18 GAUGE

LATCH REINFORCEMENT RETAINER — ToP CAP -
- ™
/ /——161 LOCKBOX PREP ; (S@ng OWEC'-D / TACK WELD e g
g, y . N N N & CAULK x| %=
/ h b z N o Ja SN
N 3 Q| =2,
22 N o = S& -
| ==7T .
/ . Ll | 2 <6 )
8 2 Blcse W
(o I 7 , 16 GAUGE 5 §<9
HINGE — CHANNEL — HEEE
"Z” BAR (VERTICAL REINFORCEMENT ig \ SEOT WELD <
STIFFENER) 6” O.C. 0 4" 0.C. O
M L
16 GAUGE 3
86 LOCKBOX PREP ~ CLOSER o &
i Yo e . § REINFORCEMENT O
: Bes e — TACK o :
WELD TO w )
CHANNEL g
o
g 16 GAUGE o
—
ALL VOIDS FILLED WITH , O ANNEL — =
(T\EOGE SEAM DOOR  HERGLE KOIVCd, s o S s |2
\10/ HALF SIZE Q EE 4" 0.C. S ‘%
a \ -
LATCH REINFORCEMENT RETAINER —  —*& " 3 88w
/ 161 LOCKBOX PREP : SPOT WELD PRODUCT RENEWED n NNQ
] _ - @ 6" 0.C. 4s complying with the Florida | <€ | Z ¢|, ,,'., )
== S == Acccpsnech AMER S
ance e, .
ﬁ/ | /Y VERTICAL DOOR SECTION Expiraion Duie TAu 7 20p3@ | & & & 1
/ 22 \J10/ HALF SIZE 4 2 mam
o Slec |
S s . JAN g
HiNGE — 5
"Z" BAR (VERTICAL REINFORCEMENT o | ROCKWOOD #555
STIFFENER) 6” O.C. = FLUSHBOLT .
~| 3
86 LOCKBOX PREP ol E
S - - s ol &
7
N 5 F
’ = Z
(8]
ALL VOIDS FILLED WITH =N
/X SEAMLESS EDGE DOOR MICROLITE HONEYCOMB, EPS BY Z| £y
J0/ HALF Size  APACHE (STYROFOAM) % + o
] = | SHEET 10 OF 13
DOOR PANEL CONSTRUCTION DETAILS e Il N
(NOT VALID WITHOUT SEAL) &) 7-8-08

S\Prajects\2005\05-035 Qudlity Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O8\AVANTI QEP-SHEETIO.dwg Plotted: Jul O8, 2008 - 418pm by kevinm




CUT 12 GAUGE STEEL BOX CHANNEL

6 1/4” TO INSTALL MORTISE LOCK

10"

__/\/__

4 7/8”

/E\ DETAL HINGE REINFORCEMENT

*  X1——SPOT WELDS
x o
N
o]
~ o Y
~N ~N
— ™~
<+ o o
o}
lv |
’———7 GAUGE STEEL
X X|
X X
<
~_ 1 1/4”

I

H.M FRAME

/G DETALL LOCK REINFORCEMENT

N

39! = 1’—0"

DOOR &
-J\/__
I

| 12/24 SCREWS
MOUNTED TO 12

CHANNEL

g"

N 1/47
_J\/__

HM DOOR

N\,

__/\/__

GAUGE STEEL BOX

10"

1Y

31) = 11_011

x x SPOT WELDS T—SPOT WELDS x x SPOT WELDS m% g
X X X X o <Zc<
o| 33 BS
x 12 GAUGE STRIKE Q| zEq
o | S o REINFORCEMENT x X S33 R
| o x =12 GAUGE STRIKE | 1 | =& T :
i - . s I . of| REINFORCEMENT | B | 328 ©
2l /4" NN © 2L \Jo/ I ~ |82 Yo
> DI NN = w|  [T~{f~PLASTER GUARD Nigss
) o |« o o< PLASTER ~ 5 <
[ 12/24 SCREWS A | GUARD ~ J1TSPOT WELDS O
[ S 1 ° I_ )! [+ 4
12 GAUGE STEEL Ny 7 GAUGE STEEL x LJ
X X ’ X /! §
X X 4 (@] . e3
X X X X 1 1/8" o
L \4L FRAME L - Q S
1 » HINGE AND STRIKE 1 1 1/2" N
T~ /7 | REINFORCEMENT Ly LA L 3
J\/_ —J\,—- A A —\ o N
HM FRAME ©
/™ DETAL STRIKE REINFORCEMENT /N DETAL /P DETAL / R™ DETAL DEADBOLT REINFORCEMENT g
3" = 1"-0" \Jv/ 3 = 1-0" \Jv/ 3" = 1"-0" \J1/ 3 = 1-0" z
PRODUCT RENEWED 3
AME REINFORCEMENTS g Coge e Porkda | (2
Aeceptian oo 7101700 | 2 28w
16 GAUGE DOOR Expira © " $ ‘?ﬁ
) ) 25 GAUGE < | Z
'J\/_' 'J\/_' —/\/— PLASTER o $ $ +
% X %|/7—86 LOCK GUARD = oan
T—SPOT WELDS %, x | REINFORCEMENT Tl mam
x ~ (12 GAUGE)
N
=x|4—161 LOCK L]
+
Y| REINFORCEMENT 19 GAUGE STRIKE /
#——(3) HAGER HINGES (12 GAUGE) REINFORCEMENT
! 41/2" x 4 1/2" © 2
+ ~| 3
" x SPOT WELDS (V" PLASTER GUARD ol kK
i \J7/ 3 = 1'-0" ol %
T——SPOT WELDS =
« SPOT WELDS = |
” x S
L 1 1/8" oo x| Y
L U S <
[ N1 14 S
| _¥ __J\/__ _4/%1 1/4" Z | 59
STEEL HINGE PLATE x 8 2338 % To
7 GAUGE x”1 1/4" x ; SHEET 11 OF 13
/H\ DETAL bSOR HINGE REINFORCEMENT /“S™ DETALL DOOR LOCK REINFORCEMENT T DETALL DOOR LOCK REINFORCEMENT DAVID M. SCHAONACHER PE. |
———, o 11 FLORIDAREG. # 62121 [a'sf DATE 7-8-08
3 =1-0 w 3 =1-0 \\11) 3 =1-0 (NOT VALID WITHOUT SEAL) | O

NI

S\Proects\2005\05-0O35 Qudlity Engineered Products\Other Disciplines\Qudlity Engineered Products\O5-20-O8\AVANTI QEP-SHEETI.dwg Plotted: Jul O8, 2008 - 419pm by kevinm




(2) %" DIA.
5 3/4” /SPOT WELDS (JAMB WIDTH —1/4") (2) %" DA
/ v ,lV 7 SPOT WELDS
e B
X " h
.
=
?:l
> /T DETAIL NEW MASONRY ANCHORING

\12/ 3" = 1-0"
ian , 'T"_ANCHOR DETAILS

_— DIA. x 23" PIPE WELDED
e L%Efcl_lga'é OF HOLLOW (SEE APPLICABLE ELEVATION FOR
] NUMBER OF T’ ANCHORS REQUIRED)

]

| —————— WELD THICKNESS = 0.059" (16 GA.)
Fyun, = 30 KSI

%" DIA. x 2%" PIPE WELDED
TO BACKSIDE OF HOLLOW
METAL FRAME

/M PIPE SLEEVE DETAIL

S/

1 3/4"

9 3/8"

OFFSET STEEL TEE ANCHOR

16 GA. OUTSWINGING GLAZED COMMERCIAL STEEL DOOR

TAMPA, FLORIDA 33634

4506 QUALITY LANE
(813) 885-1693

Products (60., Inec.

PRODUCT RENEWED
a8 complying with the Florida
Buiding Code

Acceptanee No 57— /o ]7./0
Expiration Date i / '3
q

”’%‘
mm :<
Division

DAVID M. SCHENACHER, PE.
FLORIDA REG. # 63131
(NOT VALID WITHOUT SEAL)

€O
N
QN
QO
000
g $38
%nonl
= ™ N 00
2
> WANNMN
EFN")
<
| 3
S| g
<
-
a
o -
M
2| ¢
Z| 8
2| B o
Z =Ne
| TOo
Z.
E SHEET 12 OF 13
<
on DATE 7-8-08

S\Projects\2005\05-0O35 Quality Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O8\AVANT! QEP-SHEETI2.dwg Plotted: Jul O8, 2008 - 4:20pm by kevinm




-
o 8 ;
z & g
S| 55 S\
Ol ~x
8|58z
b o o
o §,<£ é
] e ©
h|gze
e
-
<
2
WELDED CORNERS Y]
>3
/ >
/ A 2
Y . o ol <
©| 16 GA. STEEL — ©
INTERLOCKED TAB N >4
EAD CAP HCB22 f WINDOW CHANNEL e S
TOP BRACKET e — S
SECURED TO DOOR 18 GA. STEEL 4
EXTRUDED DOOR 5 ow
HEADER WITH (4) 3/8" GLAZING TRIM o 8883
8 1/4" x 20 SMS o 998
8 < | =
DETAIL DETAIL 18 GA. WNDOW KIT | ® | S {2 &
(2 I |
\__/ HALF SIZE\ __/ HALF SIZE | © | = ®© &~
"2 -am
PRODUCT RENEWED
a8 i H
PO e
1/2"1 5/8” - Acceptanee Nags 2. /p [/ 7./ 0
3/8” x 2" STUD N Expiration ”"‘%‘%-Lzﬁﬁ
ANCHOR BY RAWL o By_(  Chopde 2
INTO CONCRETE T
- U N %\ Bivisioa ~| 3
q N SILL BASE (SB822) N ol &
2ol - .
<
PRECISION FL822 PEMKO #375CR ASTRAGAL E
\/ REMOVABLE MULLION @ W/ #4 x 3/4” MACHINE x| -
PAIRS OF DOORS SCREWS SET 6” 0.C. g L
mTYPICAL CORNER DETAIL @\DETAIL REMOVABLE MULLION fE\DETAIL ASTRAGAL > Z_‘:
v 3» = 1:_0n w 1 1/2n = 11_0n w 3n = 11_0n 2 g o~
| 28
Z,
- g SHEET 13 OF 13
COMMON DE AILS DAVID M. SCHPNACHER PE. | ¢
e ———— FLORIDA REG. # 63131 o' -
(NOT VALID WITHOUT SEAL) =) DATE 7-8-08

S\Projects\2005\05-035 Quality Engineered Products\Other Disciplines\Quality Engineered Products\O5-20-O8\AVANTI QEP-SHEETI3.dwg Plotted: Jul 08, 2008 - 4:21pm by kevinm




